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&t%il~  1.13 2+(3+7)  = (2.b3)1-7

2.(3.7)  = (2.3).7

(4) WJ¶X?ftl’dllQfll(%tS  (distr ibutive law)

fhw?qn q x, y, 7 E R, x.(y+r) = s’y+x.z

ih3dl~  1 . 1 4  2.(3+5)  =  2.3+2.5
#

x+0 = x th4%JxER
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(1)
(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

51 x + z = y + L & x = y

$1 x-2 = y-z LLAt z * 0 L&J x = y

c-l  x.y  = 0 L&d x = 0 n% y = 0

x.0 =  0

( - 1 ) x  =  - x

-(-x) = x

-(x+y)  = -x + (-y)

t-x) Y = -(xy)  = x(-y) .;  . , ;,

C-x)  C-Y) = XY
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PYaaoh  1.15 ?-hU~~~  A  =  (0,7]  B  =  [- 2,3]  LLaZ. C  =  [O,l)

T~55191612105  AfTB , AUC, A - B, (AiTB)  - C

9d 0
am1  :

- 2 0 1 3 7

G l A

e 0 B

C

pl 1.11

aingti AfIB = [x IO < x < 31  = (0.31

.AUC = (x I 0 < x < 7j  = IO,71

A-B = [k / 3 < x < 7) = (3.71

(AfIB) - C = (0, 31-10,  1)

= II, 31  #



- I I

~. 2 -I 0 i 7 A’

0 0 B

0 0 C

#

.
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x + 49waii  x mnoaunla  -
3

< 6 + x

x+4<18+3x

uanGa;7er  -3x $3 2 hsK -2x + 4 < 18

uantiai?er  -4w”s 2 hK -2x < 14

LO1 -2 M-m& 2 hs 1; x > -7

amwaaaafGo  1x1~ > -71 wio (-7,  oa) #

5mhwni5  ’ > 2
x - 5 ’ I

X--2 20
x - 5

x - 2x + 10
x - 5 a 0

M A  1 1 1

-x + 10
x - 5

2  0

x - 10
x - 5

< 0

8s



-5 0 I

l
X2-5

xg1

pJ 1.12
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- 5 0 1

* l o------
⌧< -5 x21

m”?ef.h  1.20 w&m.mi5  (X - 1)  (X +  1)  (X +  2 )  < 0

r-did1 ~-1>0,~+1>0Lwx+2~0

wmattu  x > 1 , x > - 1 LLX  x < -2

-2 -1 1
x>l

0 w

---x<--2 (+--TTi---

pJ 1.14
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, I

-2 -1 1
x>l

,A0 c)------

yJ  1.15

- 2  -I 1

0 - x>-2

x >  - 1

x < l

;d 1 . 1 6

nxii  4 x-i<~,~+icobbafx+2<o

x<i,x<  -ikatx<  - 2
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(2) 1x1 = 0 r%iodo  x = 0

(3) 1x*1 = Jx12  = x2

(4)  -14 < x 4 /XI
(5)  Ix+yI < /XI + IYI

(6)  Ix-Y1  a 1x1  - IYI

(7)  Ix-Y12  IYl - 1x1

( 8 )  n”la>O,Ixl<~?%kd~  -a<x<a

( 9 )  ~la~O,Ixl~an”doa8ax~aHiox~  - a

m”aed1s  1.21 w~pdi1 -lx/  < x < 1x1

~ylpdi (1) KY1  x 2 0 &-d  1x1  =  x

&lfu  - 1x1  = --x < x = /xl

(2) 61 x < 0 LG?  /XI  = -x

-1x1 = -(-x) = Y < 1x1

84 2 nd t-qd1G1

-/xl < x < I XI #

n"aSdlS  1.22 89~91~7  Y 9777  12~  - 31  =  5

12x-31  = r”,,  ‘?)  $ ;x3-.?30;  0

ns$G  i 2x-3 = 5

2x = 8

X = 4
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nsriifi 2 - ( 2 x - 3 ) = 5

2x -- 3 = - 5

2x =-2

x = -1

ai



-2\<s-  I < 2\

Qudo - 2u < x - I LLR::  x - 1 < 2x

3x > I LLAO  x > - I

( X -  Ii < 44

(x - I)’ < mtY

(X - 1j2 < 4x2

x2  -- 2x + 1 < 4x2

3x’  + 2x 1 > 0- 1

(x + 1) (3x - 1) > 0

&b%l”ernaaau  %I  x < - 1 esio  x > +

1.16 VPNJ6WllJpd  WlJFWldl~  (Upper bound, Lower bound)

IlVl~Ulp1  1.18 61 S C R Lk?‘JLifJ?l  U E R h’il~IkllF~~U  (upper bound) llO9  S fi&lL~Ci

X&U  k+Gbyl6]  XES
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n4 0

JBPll AxB = l(l,  I), (1,  2),  (1, 3). (2. 1). (2, 2).  (2,  3)l

BxA z ICI,  I), (1, 21, (2. I), (2, 2). (3, I), (3, 2);

AxA = ItI,  1). (I, 2), (2, IL (2, 2))

Bx B = l(l,  I),  (1, 2), (1, 3). (2, I), (2, 2). (2, 3), (3, I), (3, 2), (3, 3)1  #

&GsanGl 1 . 61 A # B&-J  A x B # B x A

2. n(A x B) = n(A) x n(B)

3. n(A x A) = [n(A,J'

A x B BxA
bei  1.19

4. ilM?U~%flA\~~  Ax@=@=@xA

5. n(A x B) = n(B x A)
. ‘r?’

4 :
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FYmh 1 . 2 6 h4UW%~  A  =  [1,2,3)

B = [I,31

baa: r = [(l,l),  (3.11,  (2,3)j

PE%%l r-’ = [(],I), (1,3), (3,2)j #

89edw  1 . 2 8 iilwml~  r, = [(x,y) ) x E R, y E R US:  y ‘=  x]

r2  = [(x,y) 1 x E R , y E 8  ML  y = 2x + I]

%lHl ri’ LLaZ  ri’













3)  (fg) (9 = f(x) g(x) = dx

(Composite function)
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= 2(3x+2)

= 6x+4

(2)  fog(x)  = f(m)

= 3(2x)+2

= 6x+2

f(x) = x fhMs'n,  x E A
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